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Topic:- PE PHD 52

1) Classifying a person on the basis of his attribute is an example of
[Question ID = 7279]
1. Contimuous ¥amabile [Option 1D = 29110]
I. Bandom Variable [Option iD = 29111)
1. Categorical Variable [Opticn 1D = 29112)
4. Discrete Yarable [Option 1D = 2971

Correct Amswer =-
# Random Variable ['I:lnl:n:rl D= H111|

2) Which of the following validity involves systematic examination of the test content to determine whether it covers a
representative sample of the behavior domain to be measured?

[Question ID = 7280)

1. Content Validity [Option I = 29114)

I_ Face Walidity [Option 10 = F9115)

3. Construct Validity [Option |0 = 25118]

4. Factorial Yabidity [Option D = 29117]

Correct Answer -
& Content Walidity [Option 1D = 29114)

3) Sarmgling in the survey research depends upon
[Question I = 7281]

1. Principle of rmndomitzation unlg.l ['I:Iph:n 10 = F9118]
I. Principle of represents -0 w
1. Principle of optimization only| [Option 1D = 29120]
4. Principles of representaktiv zx and optimization [Option 1D = F9121]

Correct Answer --
# Principle of mndomization onfy [Option 1D = Z9118]

4) In which af the fallowit nslof sample size and

sampling schedule?

[Question ID = 7282 ]

1. Conwendence sampling [Option 1B = 29133]
I. Sequential sampling [Option ID = F9123)
1. Conzeoutive sampling [Option 1D = M9124)
4. Quota Sampling [Option ID = 29125]

Correct Answer --
- S-EEI.IEﬂI:IHl. umpl.rrg ['Dnl:n:rl 1D = F81 I]]

5) A study in which participants do not know whether they are receiving the experimental or control treatment is called
[Question ID = 7283]

. Double bling ==t up [Option 1D = 20138)

- Blind z=t up [Option 1D = 20727

1

X

3. Threat to internal validity [Option ID = 259138)

4. Multiple treatment interference [Option ID = 29129

Correct Answer -
- lllrl:ln!tup |I'.'l|:|tr|:|r|.ID 1'!1.1:"]

6) Ressarch designs in which the sxperimenter ries to Mt the design to real word settings while still contralling as mamy of
the threats te internal validity as possible in called

[Question ID = 7284]

1. Randomnized group design [Option 1D = 29130]

I Quasi-euperimental design [Option B = 29131]

3. Time-experimenital design [Option 1D = 291 12)

4. Pre-experimental design [Option iD= 291133]

Correct Answer --
® Quasi-experimental design [Option 1D = 29131]

7)1 A factor that could affect the relationship between the independent and dependent variables but that is not included or
controlled is called www_FirstRanker.com
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Correct Answer -
& Extranecus Yarable [Option 1D = 29115]

8) Which of the following method is not used by the psychologists in conducting qualitative research?
[Question ID = T286)

1. Participant obsservation [Option 1D = 2913E)

I. action Besearch [Option D = 29119

1. Experimentation [Option I = 29140]

4. interview  [Option ID = P141)

Correct Answer --
# Experimentation [Option D = 20140]

) In which of the following is not a technigue of non-probability sampling?

[Question ID = T287]

1. Sequential sampling [Option ID = F9142)
I Conzecuttve samplirg [Option 10 = 79143
3. Quota Sampling [Option ID = 29144]

4. Clheter sampling [Option 1D = 29145]

Comect Answer -
# Clister sampling [Option I = 39145]

10} A research which seeks some immediate practical outesme, the student typhcally wishes to “Solve a Problem”

[Question ID = T288)

1. Basic Research [Option iD= 29148]

I. Descriptive Research [Option 1D = 29147)
3. Qualitative Rescarch [Option 1D = 79148
4. Applied Besearch [Option 1D {2T39]

Correct Answer -
» Applied Research [Option 1D 4 I9149]

11} In review of literaturg there are certain published studies that relate directly to the topic un investigation and are

so sirmilar bo the subject aije called
[Question ID = 7289]

1. albed literature [Option 10 = 79150)

z. Critical bterature [Option 1D = 35151)

1. Primary literature [Option 1D = 39152)
4. Secondary literature [Option iD= 29153)

Correct Answer -
# Critical iterature [Option 1D = 3%151]

12} A vechnigue for measurement of attitudes where each relevant statement allows for five degrees of response from

miost to least favorable B called
[Question ID = 7290)

1. Q-zort [Option 1D = 29154)

I. Somatic differential scale [Option iD= 29155)
3. Likert Scale [Option 1D = 29154)

4. Categorical Response [Option 1D = 359157

Correct Answer --
# Liert Scale [Option 1D = 29154]

13} Research in which samples of participants from different age groups are selected in order to assess the effect of
raturation is

[Question ID = 7291]
1. Cohart Probdem

[Ootion 1D = 29158
I Cross sectional studies

[Option D = 39154%]
1. Longitudiral stusdies

i
4. Come Studies

www.FirstRanker.com
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14) A scale which has a non-gradient classification, that is, there is no numerical basis of grouping is called __
[Question ID = 7292)

1. Contimuous ¥amable [Option 1D = 29162)
I. Dhecontimuous Warable [Option D = 39141)
1. Mon-Parametric Data [Option 1D = 79164)

4. Artributes [Option 1D = 29155)

:I » FirstRanker.com

Correct Answer --
# Atfributes [Option I = 29185]

15) A data measured along a scale in which each position is equidistant from one another is

[Question ID = 7293]

1. Batio Data [Option iD= 29164)
. Mominal Data [Option B = 20147)
3. Ordinal Data [Option 1D = 291568]
4. Interval Data [Option 10 = 29169)

Correct Answer -
& Interval Data [Option 1D = F9165]

16) The variabbes which are capable of taking an ordered set of values with in certain range is called

[Question ID = 7294)

1. Contimucus Yarsbie [Option 1D = 20970]
I_ Random Yariable [Option ID = F3171)

3. Ratio Vanable [Option ID = 29172]

4. Hominal Variable [Option 1D = F9173)

Correct Answer =-
& Contimuous Yarable [Option |0 = 29170]

17} The number of indepgndent pieces of data or scores that are used to estimate a parameter is|called

[Question ID = 7295]

1. Test Statistics [Option 1D = 28174]

I. Degrees of Freedom [Option |0 = 29175)
1. P-¥alue [Option 1D = F174)
4. Lewel of Significance [Option 1D = 29177

Correct Amswer =-
# Degrees of Freedom [Option 1D = 29175)

18) A Variable which needs to be held constant so that its effect is the same for all conditions is called__

[Question ID = 72196]

1. Orgamsmic Variable [Option ID = X917H)
I_ Control Yarable [Opticn 1D = 29174

3. Subject ¥Warable [Option 1D = 29180]

4. Dependent Yariable [Option ID = 29181]

Correct Answer -
#» Control ¥anable [Option 1D = 29179

19} M the Mean Swm of the Square with in group is 12 and the Mean Sum of the Square between groups ks 72 then what
will be the value of “F?

[Question ID = 7297]

1. IR

[Option ID = 29182]
r L1k

[Option 1D = 29181
L5

[Option 1D = 29184]
4. L]

[Opticn ID - 29185]

Comach Ao o
L
www.FirstRanker.com
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1. XE-test

[Option 1D - 29184]
2 -Eest

[Option ID = 291&7]
5 M-test

[Opticn iD - 2915]
4 t-best

[Option ID = 29189

Correct Answer -
& i-test
[Option D = 3918%]
21) Experimental method of research is designed to determine
[Question ID = 7299)
1. Causal relations among factors [Opticn 1D = 29190]
I_ ‘Whether we can solve all problems experimentally [Option 1D = 39191]

3. ‘Why things happen the way they do [Option 1D = 29192]
4. Mow empirical evidence explairs a pheromenon [Option 1D = 291913)

Correct Answer =-

» Causal relations among factors [Option 1D = Z9190)
22) W an independent variable, for example, is new treatment for hyper-tension, then the dependent variable might be
patient”s

[Question ID = 7300]
1. Candiac output [Option 1D = 39794)
I. Micart beat [Opticn 1D = 291%95]

1. Blpod pressure [Option ID = 25196
4. Stroke volume [Option D = 2197)

Correct Amswer =-
# Bipod pressure [Option 1D = 20196]

23) The mode is a better measure of central tendency lor dealing with
[Question ID = 7301]

1. Ordinal data [Gption 1D = 259198)

I. Batio data [Option ID = 20795)

3. Morminal data [Option 1D = 29300)

4. Interval data [Option 1D = 29301)

Correct Answer --
& Momminal data [Option 1D = 29300)

24) Choose the correct statement from the following:
[Question ID = 7302)

1. T-test and chi-sguare test are parametric tests [Opeion 1D = 2980F)
I_ T-best & paramestric and chvi-square test & non-parametric [Option D = 29200)

3. T-test and chi-sguare tests ane non-parametric [Option 1D = $9204]
4. T-test & non-parametric and chi-square test s parametric [Option B = 29205)

Correct Answer --
# T-test & paramestric and civi-square test s non-parametric [Option D = 29200]

25) Chi-square is wsed for

[Question ID = 7303]

1. Finding magnitude of an association between two attributes [Option 1D = 29506]
z. Finding significance of an association between two attnbutes [Option 1D = 35207)
1. Comparing the variation between two attributes [Option 1D = 2020&)

4. Comparing median of two attributes [Option 1D = 39009)

Comrect Amswer --
# Finding significance of an association between two attributes [Option ID = 35307F)

B e T o L R e L

[Question ID = 7304]
1. Esteem [Opticn ID - 29210] www.FirstRanker.com

[ | LSBT ACTOSITEETRET | O RET i = J92TT]
1. Socialtzation [Option ID = 20212)
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27) Sigmund Frewd came out with the notion that sexual adjustment has an impact on overall development of

[Question ID = 7305)

1. Personality [Option D = 29214]

1. Physical health [Option 1D = 29215)

3. Psychological health [Option 1D = 29314]

4. Inter-personal relatiorsfips [Option 1D = 25217]

Correct Answer -
# Personality [Option B = 19214)

2B) When we draw a circle with the arm and wrist straight, the type of movement we perform is known as

[Question ID = 7306)
1. Rotation [Option 1D = F9218)

2. Circling [Option ID = 2921%]
3. Circumduction [Option 1D = 290H)
4_ Perambulation [Option 1D = 25221)

Correct Amswer =-
# Circumduction [Option 1D = 2930

29) Increased spin on a ball makes it
[Question ID = 7307

1. Move fast sideward [Option D = 292232)

I. Besist the force applied [Option (D = 29337)
1. Move in a curved path [Option ID = 29034]
4. o on swirling all over [Option 1D = 2923%)

Correct Answer =-
® Move in a curved path [Optich 1D = 29324
30) Mitochondria plays an|important role in “cell respiration’ and
[Question ID = 7308]
. Metabolic functions [Option i) - 29224]

1
I Production of emergy [Option | = 29227)

3. Elimiretion of carbon diowide [Option 1D = T92ZH)
4

. Meurg-transmission [Option D = 29229]

Correct Answer --
% Metabolic functions [Option D = 29228]

31) Dwring circulation, the living cells of the body absorb axygen from

[Question ID = 7309]

1. ‘White blood cells [Option 1D = 29330]
I_ Bed blood cells [Option 1D = 29231)
1. Blood plateiets [Option 1D = 29233]
4. Blood plasma [Option 1B = 25211)

Correct Answer -
# Eed blood cells [Option 1D = 29231)

32) W which of the following activity-phases does the heart muscle rest?

[Question ID = 7310]

1. Diastole [Option 0 = 292134)

X, Systole [Option ID = 25235)

1. Pause [Option 1D = 293 14)

4. Eectrical Stimulation [Option ID = 29237)

Correct Answer --
& Diastole [Option B = 20214)

33) Management of an organization cannot achieve its objectives speedily unless the

[Question ID = 7311]
1. Bromotional avenues for all sections of employees are adequate [Option B = 29238]
I ‘Wage structure of all kinds of workers is rational and judicious [Option ID = 29239]

3. ‘Workers' umions are kept satisfied [Option 1D = 29240)
e foih e e e s e Cran iy ke e - e E

www.FirstRanker.com

Correct Answer -
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3. 23 [Option 1D = H.‘:.u]

4. 24 [Option I = F9245]

Correct Answer -
& 11 [Option if = 29242)

35) Interactions between people with consequences for every participant

[Question ID = 7313]

- Cohesion [Option 1D = 29248)
- Social Relationships [Option 1D = 20247)
- Social involvement [Opticn 1D = F248)
- Social institution [Option 1D = 29245%]

.hl.-h-—-

Correct Answer --
# Spcial Relationships [Option 1D = 29247)

36) People who at any time consume sport, either directly , through attending an event or indirectly , through exposure o
some form of mass media are called

[Question ID = 7314]

1. Fans [Option 1D = 3%250]

I_ Sport Consumers [Option 1D = 29351]

3. Sport Broadcasters [Option 1D = F925F)
4. Expressive Leaders [Option b = 35351]

Comect Answer -
#» Sport Consumers [Option IR = 29351)

37} Acomplex developmental learning process that teaches the knowledge | values, and norms essential to participation in
social life is known as

[Question ID = 7315]

1. Social imftation [Option 1D = 293 54]
I_ Socialization [Option 1D = F955)
1. Deserialization [Option b = 39754]
4. Muclear Family [Option 1D - 2p257)

Correct Answer =-
® Socialization [Option 1D = FR255)

3B8) Planning is a

[Question ID = 7316]

1. 'Way to imvolve large number of people i competition. [Option 1D = 29258)
I. Predetermined course of action [Opeion D = 29259

1. Way to provide facilities for sports participation. [Option 1D = 29280)

4. To dstribute workload [Option 1D = 35361)

Correct Amswer =-
% Predetermined course of action [Option 1D = 29259)

39) The major objective of managerial education and training is to

[Question ID = 7317]
. Grient everyone about organizational objectives [Option 1D = 20243]
- Hislp the managemsent achieve pre-determined goals [Option 1D = 29263]
- Make official and enecutive responsive towards public problemns [Option D = 29284]
. Produce competent administrators 2nd maregers in adequate nomber [Option 1D = 29265)

.hl.-h-—-

Correct Answer :
& Produce :m'qrhent adrministrators and rruruger: in .!:Iﬂ:n.late rumber |Cl:|t||:|n D= .1?.1&‘5-]

40) Amongst all the systems of management system, the crucial one under the utmost Fying circumstances is
[Question ID = T318]

1. Communicating with Superiors [Option 1D = 2260]

I_ Evaluating people’s conduct [Option 1D = 35247

Y. Doirgg damage control [Dption 1D = 3536H)

4. Taking right and timely decisions [Option B = 20269]

41) The volume of blood pumped by the heart WML EirSIRaNker.com

[Question ID = 7319)
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Correct Answer z-

& Stroke Wolume [l:lptrnn 1D = 352H0)

42) Acetylcholine is a
[Question ID = 7320]

1. Mormone [Option ID = 31%274)

I. Meuro- Transmitter substance [Option 1D = 29275)
1. Trace Element [Option 1D = 292 746)

4. Maoro-Mutnent [Option ID = 17T

Correct Answer --
® Meurg- Transmitter substance [Option 1D = P5275]

43) The resistance to motion of two moving objects of surfaces that touch is called

[Questhon ID = 7321]

1. Flesdon [Option 1D = 29278]

I Projectile [Option iD= 25379)
3. Friction [Option 1D = Z9280]
4. Extension [Option D = Z9E81]

Correct Answer --
® Friction [Option 10 = 292E0]

44) Which of the following objects does not serve as a lever?

[Question ID = 7323]

1. & Pulley [Option 1D = F9284]

I. A Tennis ball [Option ID = 292ET)
3. & Cricket bat [Option |0 = 2SR
4. & Sorew [Option 1D = 35089)

Correct Answer -
% & Tennis ball [Option iD = 253ET)

45) Besides the thrower'q body position, what determines the height of implement -discus, shot o javelin- at release/

[Question ID = 7324]

1. Size of the Athlete [Option D = 29290

¥ Kind of implement [Option 10 = FH291)

1. athlete's footwear [Option I = 20292)

4. Lewerage of upper limb [Option 1D = 2993

Correct Answer --
# Size of the Athlete [Option D = 29200]

d46) Principles of learning can be used to

[Cuestion ID = 7325)

1. Facilitate leaming in a big way [Option 1D = 35094]

I_ Provide happy learning experiences to students [Option ID = FH9S5)

3. Understand, analyze and manage buman behaviour [Opion 1D = 29294)
4. Produce Stronger tramafer- effects [Option iD = 29297)

Correct Answer -
# Understand, analyze and manage buman behaviour [Option 1D = 29294)

47} A sports Psychologist can gain trust, respect and credibility by

[Question ID = T326]
1. demanding and expecting excelience [Option ID = 397298]
I. establizhing lines of confidentiality, clarifying roles and services and agreeing timelines and goals [Option 1D = 29259]

3. instructing the client about wiat is the right thing to do [Option D = 29000)
4. showing off his or her competence [Option 1D = 20301

Comrect Amswer --
# establishing lines of confidentialfty, clartfying roles and services and agreeing timelines and goals [Option D = 203%%]

48) All factors that caused growp members to remain in the group such as liking for the other members and the desire to
miaintain or increase ome's status by belonging to the right growps is said to be

[ ai bt b = 2 A
&x

1. Praximity [Option D = 25302]
¥ Sienilarity [Option iD - 24700] www_FirstRanker.com

3 Cooperstom fiptom B

4. Cohesiveness [Option ID = F9305)
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49 Sociclogist believe that the behaviowr of an individual invariably carries with it the imprint of the

[Question ID = TI28]
1. dini astrological sign under which a person is borni

[Ootion 1D = 29104
I School peers and neighborhood frends as a child

[Option b = 23307T]
1. Society in which the person is bom and browght up

[Option b = 3900E]
4. Social and econoeic conditicrs of his family

[Option 1D - 29009

Correct Answer --
& Spciety in which the person is bom and brought up

[Option ID = 29008]

50) The statistical study of behavior and relationships within sacial groups, specially expressed in terms of preferences™, s
e as
[Question ID = 7329]
- Sociometry [Option 1D = 29310)
- Socio-programming [Option i = 29311)
. Socio-diagramming [Option ID = 29312]
- Sociology [Option 1D = 28311)

.hl.-'l"'l'—'

Correct Answer -
# Sociometry [Option 1D = 230[0]
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